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base = float(input("length of base: "))

height = float(input('measurement of height: "))
area = base * height

print("Area is:", area)

R L I B
length of base: ¢
measurement of height: Ve,e
Areais: Y\V,»

pi =22/ 7

height = float(input('Height of cylinder:
radian = float(input('radius of cylinder:
volume = pi * radian * radian * height
sur_area =((2* pi* radian)* height ) +(( pi * radian ** 2 ) * 2)
print("Volume is: ", volume)

print("surface Area is: ", sur_area)

))
)

R I B
Height of cylinder: ¥«

radius of cylinder: ¥
Volumis: YoV,£YAeVYEYAOVYEY

surface Areais: YV1,eVyYéYAeVYEeYAen

pi=22/7
radian = float(input('Radius of sphere: "))
sur_area = 4 * pi * padian **2

volume = (4/3) * (pi * radian ** 3)
print("Surface Area is: ", sur_area)
print("Volume is: ", volume)

Tl 2
Radius of sphere: \:
Surface Area is: YYoV,YéYAoVYEYAoV
Volume is: £)4+,¢V1Yq+£VTN4
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from math import tan, pi

n_sides = int(input("Input number of sides: "))

s_length = float(input("Input the length of a side: "))
p_area = n_sides * (s_length ** 2) / (4 * tan(pi / n_sides))
print("The area of the polygon is: ",p_area)

Tl 2 sF
Input number of sides: ) Y

Input the length of a side: A

The area of the polygon is: V)1,00YVoo.oYYYit

import math
= float(input("Input wind speed in kilometers/hour: "))
= float(input("Input air temperature in degrees Celsius: "))
wci = 13.12 + 0.6215%t - 11.37*math.pow(v, 0.16) +
0.3965*t*math.pow(v, 0.16)
print("The wind chill index is", int(round(wci, 0)))
Tl 2o sF

Input wind speed in kilometers/hour: ¢A
Input air temperature in degrees Celsius: ) ¢
The wind chill index is ')

rep 1nt(1nput( Enter repeat
(S33,9 )y S

print (s * rep)
4y )\,(7 Sl rep

R T B

Enter a string: Python
Enter repeat: ©
PythonPythonPythonPythonPython

a = int(input("Enter real part: " _

b = int(input("Enter image part: ")) real _z:s a
complexl =complex(a, b) .
imag s b

print (complex1l)
odild g bl sae | COMplexy

talogm 2o sS

Enter real part: V¥
Enter image part: -¢
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w = input("Enter w: ") Son B )
e TR
ie:azsg (w*1) / m; bﬂﬁji{io)} -
print("Tedad = ", tedad); ©39) )'\J_;:j‘\,.&j O35 W
255 ot ol B
o slad S 4o sl tedad
Tl 2e

Enter w: V'€

Tedad = &, YEYYYYYYYYYYYYYYetYY

ss = 3.156e7 God e
age = int(input("Enter age:")) £

second = age * ss; 4l o Jleja Ss
print("Second = ", second)

Jlo & Age

b e o | Second

Tl 2e

Enter age: £A
Second = YOYEAA v,

OADd )ﬁiﬁ&
a = float(input( "Enter salary:")) . S
b=a*ao.07 O
m=a* 0.1 — B
p=a-b-m =
pr\int(lls = ll, a, n b = ll, b’ n m = ll,m’ " p = ll)p) QuL‘ M
Bl P

Tl 2
Enter salary:) + ++ e v v+
S:\hll..h.’h b:vhllhl,h..h..hhh\ m:\hhhhhl’l p:

A‘“""','
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yl = int(input("Enter price for first year:"))
y2 = int(input("Enter price for second year:")) 5 ES T
t = (float)(y2-y1) / y1 * 100; L Vs
y3 =y2 + y2 * t; B3 o y\
print("Extera=%", t, "\t\tPrice next year = " , Gl Jl 53 VS s yY
3
y ) BRI EIPER JUNINE yv

Aa Jle

B S X B
Enter price for first year:) + + + « v v

Enter price for second year: Y Y « « v« v+
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Iy Jdae pmegs oS iy o les | IdY
max2 = -1 ? il I
id2 = -1 yls
2f=n12t§?nput( Enter n:")) tils Jume | aver
print("Please enter a number giils o e | 10

greater then 1")

else:

Enter
Enter
Enter
Enter
Enter
Enter
Enter
Max V¥

3 de !

for i in range(1, n+l1):
id = int(input("Enter id:"))
aver = float(input("Enter average:
if aver > maxl:
id2=id1
max2 = max1l
maxl = aver
id1l = id
else:
if aver>max2:
max2=aver
id2=id
", max2,

"))

print ("Max2 = "\t', "Id2 =", id2)
n:Y

id:)
average:\VY, o
id: Y
average: )Y
id:Y
average: o
Yo,

Idy ¥
L_’”.I' 4S Uad 0 i ol gF 39y I
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Mol e sF
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while True: O adlsl o | YES
num = int(input("Enter a number:"))
sum = @

for i in range(1, num):
if (num % i == 0@):
sum += i
if (sum == num):
print('\t', "Perfected")
else:
print('\t'," Not perfect")
yes=input( "Continue ?")
if (yes[@] == 'N' or yes[®] == 'n"):
break
Mol 2
Enter a number:
Perfected
Continue ?y
Enter a number:)\Y
Not perfect
Continue ?n
LS wudeS 1y galisaad saw 31 4dax NoluxS 4S el ¥
Y Y ° A VY
2 s s =) )
f1 1 2 o
-1 WKV gre?)
n = int(input("Enter a number:")) ooz | 1
if n == 1:
print(f1) S | T
) exit(0) G S | FY
elif n ==
print(f1) o e | Y
print(f2)
else:
print(f1)
print(f2)
i=3
while i <= n:
f3 = f1 + f2
print(f3, " ")
fl = f2
f2 = f3
i=1i+1

(G PERENPY) N

Mol 2 ss
Enter a number:1

> 0 -t A« —» —
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s = input("Enter a string:") [EXVY g
for i in s: ookl 4, | S
print(i, end = ' ")

iy SHE » I
Tl g 290

Enter a string:Fanavarienovin

Fanavarienovin
Sde Ly %Yo o4gs Ly ply g Vreeeensn &Gl 31 aual ghy LS gad Lo
Uwlxs o) Oygody ply oy S bl bale VA oSl
:.)g.ﬂ'»u_o
ply 3o
ply opgr= ———————
=YYo. .
eoLiie dailiz Jl> .0038,0 a1 5,0 oliis 4 H(VYYorerr) oygy glu
Logd Aoy gl 4 Wby alg Hddr cdaly bl HLaS e
adlyys Iy oyg o g blaudl sluxd (oliis jJLidoyss gluo 45 sl 4olsyy
Ol 1y olo g hud o o4d OS5Iy olile 4y Wby 4S5 ol g purw LS o
(00,80 bwlnn 39y Sygody AiSIoyy aly o arogl) LS
o = o lide g =
u_'i_i-l.))_:f{;l_g&LH—WIJHPIJWXEL“:'A'WXM)ACFDJ*_'.:LA}IJHP‘}&L*_O—

ol g solisioglao

VY Xoplg glao—pls &

=plso
S Lo 4ol 3l ualghy yoylS 4S Glo) ga LS 4wl :ySLS
[ERVY %

while True : S
m = int(input("Enter m:")) P o) s s m
tedad = int(input("Enter tedad:")) .. s

. . " " S i
s = int (input("Enter s:"))
k= (12 *m) / (12 - tedad * s / 100) S els U5 k
p = k / tedad Ll sl tedad
print("k =", k, "\t', p) —
ansi=input("Do you want to continue(y/n):") Led o 2y p
lfbi:;i[e] =on wlsl b s ansi

L B R
Enter m:A
Enter tedad:V
Enter s:\Y¥
k= A,TeYYoroVVIVESLA YLYYAAVATEAYYYSATA
Do you want to continue(y/n):y
Enter m:o
Enter tedad:Q
Enter s:\
k= o0,YVoTleYeqseYsrAYVE vLoAYYYYoTTeYTYoqYy
Do you want to continue(y/n):n
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byy =int(input("Enter
bmm =int(input("Enter
bdd =int(input("Enter
cyy =int(input("Enter
cmm =int(input("Enter
cdd =int(input("Enter

if cdd < bdd:
cnm -= 1
cdd += 30

day = cdd - bdd
if cmm < bmm:

cyy -= 1

cmm += 12
month = cmm - bmm
year = cyy - byy
days =
hh = days * 24
mm = hh * 60
Ss = mm * 60

cGelw L

oP1=55KEoo FE—§5FooPPo iy jSp0 ol I=-PPPOFFAY 1295 59ld Ol Lkl

1) HA=d Jlw g j9yls dwdgd Jlw 45 ol 40l
Jew Lo LS
0545 yae LS

153) -L’I-? colo J_L?

LA

A

Son

B sl

A5 J

byy

.\.‘jo‘.&

bmm

S\ BTP)

bdd

s dl

cyy

ol ole

cmm

3= TY)

cdd

035 S48 gl

year

ub;;d}jﬂfdhob

month

035 S5 glajs,

day

035 S48 glelu slam

hh

o:;k;.u)'ofsiilb:l.lx?

mm

035 S5 Slaast sl

SS

03,5 F58 olassy JS slaw

days

birth date(year):"))
birth date(month):"))
birth date(day):"))
current date(year):"))
current date(month):"))
current date(day):"))

day + month * 30 + year * 36

print("0ld is: {@}/{1}/{2}", year, month, day)
print("Hour is(hh:mm:ss): {@}:{1}:{2}", hh, mm, ss)

Enter birth date(year):\Y¢A
Enter birth date(month):):*

ol 2
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Enter birth date(day):*¢

Enter current date (year):)YQ1

Enter current date (month):*4

Enter current date(day):Y:*

01d is: {*}/{V}/{Y¥} &Y Y)Y Y1

Hour is(hh:mm:ss): {*}:{)}:{Y} €9Y0Y YQ£q)Y+ YVTIQeVYrr:

S0 waSyS 4 |y Lagl codilgs ©dg9yg 3 Iy Hldie dw 4S5 sldaliyy .V
SIS Ol (290F 90

int(input("Enter a:")) T e
int(input("Enter b:")) -
= int(input("Enter c:")) odiodil g slael | @, D, C
if a > b:
temp = a vggrf*“ Temp
a=>b
b = temp
if a > c:
temp = a
a=c
c = temp
if a > c:
temp = a
a=c
c = temp
if b > c:
temp = b
b=c
c = temp
print("Sorted is

a
b
C

) a) b) C)
ol 25

Enter a:\Y
Enter b:A
Enter c:\1
Sorted is A 4 Y
QUSHLS Selw ojedwd 5 d3SyLS delw csdioyls oylad 45 sldaliyy A
G sdbeylS 481 L WS 0 dwlxo |y Lagl Ged> ol g3 ) sl dwwge
> sl 4 oS0 @S gl 4 HlSadlsl cubly 035SHLS Gelw £+ )

L0 G510y syLSLilal ol phedy Selw okaiwd 3 (syLS e lw
2

(W-RY Bry
OLS IS sluws n

L;..L'.c)\f o)u Id
S et | h

el 50 hp
sl | ov

o slad i




IV oP1=$$FoolFE—§5FooPPo Uiy jSyo o] I=FPPAFFAY g5 5y9ld ol il

n = int(input("Enter n:"))
i=1
while i <= n:
id = int(input("Enter id:"))
h = int(input("Enter h:"))
hp = int(input("Enter hp:"))
ov =0
if h > 4e:
ov=(3/2.0-1) *h - 40) * hp
p=ov+hp *h

print("id = ",id," ov = ",ov, " p =", p)
i=1+1
e e X B

Enter n: VY
Enter id:)
Enter h:)
Enter hp:q:* "
id = ) ov = YVeerve Pp= MIVeees o
Enter id:Y
Enter h:o*

Enter hp:)¢&+ ¢

id = \i ov = V~~hh’~ p = VV~~~~’~

Lo Jle Le deogy g oyl 5 Lasyd pee Joleo 31 S .4
cdibyS Iy LS pyel a5 g (03gu @iyl) VLS Guad 48 slaaliym owl
SIuaS 4aliys) Wlebge Gognn o Jle s slam ) YLS aand
c(leadee Gy soyls S cogh ey Db VLS aad WS pladle

p=int(input("Enter p:")) e e
n = int(input("Enter n:")) -
inc = int(input("Enter inc:")) g rgbn Jl sl n
print("vear Price") d Slapges e 5 5ol dl 2 VST 25 ) p
for i in range(1, n+l):
p=p+ (p* inc / 100) ok led i
pr‘1nt( 1, ) p) (M)_,@r)):tj inc

Mo lism 290
Enter p:) e
Enter n:o
Enter inc:VY:*

Year Price

\ YYeven o
Y YEE v 0
¥ YVYYAv e o
¢ ASCRA i SCIA
0 YEAAYY, »

LS 0 ol g bl 1y ) syw Jgl e 00 gaaxs A4S sldoloy N
1 1

s =
X x+2x




(ol @ 50— b g0+ fo )JOgul Sl o 1A

s =1 . %
WKV Jve s
pow = 1.0 i
sum = 0.0 Laeds] o X
odle f-}-\&
suml = 0.0 .
x = int(input ("Enter x:")) ERVRIN) !
for i in range(1, 11):
Ol ¢ ow
pow = pow * X X slols P
suml =suml + i * pow g sores sum
sum = sum + s * 1.0 / suml
s = -§ CJ:’;AC}W sumy
print("Sum is ", sum) ke Ol 365, e S

ol 2o
Enter x:o
Sum is *,YAYALAVETAVAQIYEY

QuoJol> ol g2 |y aamo LS9 dldel I sldegaxo 4S sldoligy.))
LS dxile Lweoe guled wys pSdae H1 coliSwl gedm Iy Lagl
Lo eSS 4ol (S 0l yho cdds 90 sl

while True: 5 o
RV Joe ST
sum = @ -
x = int(input("Enter x:")) Jsl Hldda X
y = int (input ("Enter y:")) -
if (x == @ and y == 0): p33 e y
break okl i
temp =y
if (y < 0): (o fol) gsome | SUM
temp = -y; tem
for i in range(1, temp+l): S P

sum = sum + X

if (y < 0):
sum = -sum
print(x, " * ", y, " =", sum)

Mol 2908

Enter x:)°
Enter y:-A
Yo ¥ =N = =Av
Enter x:-A
Enter y:-\)*
-A * -\ = Ao
Enter x:°*
Enter y:*
L cwl gyliie ode LT LiS,o gaiiio codllgs |y sode 45 sldoliys .Y
CEYEYY 5 AYEYY 13 Wlaylie goliie oldel 1 sladigas .S
Pl gy Cwl gyLitie «ubly guglan Ly sl 4 sode 4aili :awsss)

(pdS o duslio @33 Ly <0338 Liwlao |y dde 0glis
WAV Jre T

u.:;,b Sde Num
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g = 10 Vo ot | Pow
sum = 0
num = int(input("Enter a number:")) st ale 51 S5 | Temp

temp = num
while temp > 0:
sum = (pow * sum) + temp % 10
temp =temp // 10
if (sum == num):
print("Yes")
else:
print("No")

(3de Cskae) § gazms Sum

e B T B

Enter a number:\YYY)

Yes

Ly coddlgs |y aufn 9 aixo dde 93 N g M 45 sldolipy VY
cbasas olr o duwlas 1y M o+ Siae HI 0o Liswl

m = int(input("Enter n:")) Bua .
n = int(input("Enter m:")) Ean
sum = @ e m
temp = m s n
for i in range(1, n): oy
sum = @ Ny B Y oyl i
for j in range(1, m +1): .
sum= sum + temp mo o,k J
temp =sum P E— -
Ol g C sum
pl"int(m, TN ll’ n, no_ Il, sum) (5;‘54)‘} O‘j)‘»hu ulil’,JJ)tj“’.“
0333 g pamn SIS (51 (S8 e | TEMP

Mol 2908

Enter n: VY
Enter m: )

Y A~ Y« = Ye¥g

def fibo (n): o 3 .

if (n == 1):
return (1) U b sl sl n .

if (n == 2): oot | main
return (1)

return (fibo (n - 2) + fibo (n - 1))

def main():

n = int(input("Enter n:"))

print("Result is:")

for i in range(l, n+l1):
print (fibo(i), end =" ")

main()



(ol @2 30— b 100 Jo )Oghl Sluo Jo  Po

HE W ) R U PR

Enter n:) «
Result is:
Y)Y Y ¥ o A Y Y)Y Y¢ oo

RV gre Ao
S 4639, Foot
@\ 4659, Inch
JEAPRI foot_to_meter
- : inch_to_meter
ol - e
el centi _meter
Sesile 4 O foot_to_centimeter
foot = inch = @ i i
foot_to_meter=foot_to_centime B inch_to_centimeter
ter=inch_to_meter=inch_to_cen
timeter=0
def read ():

foot = int(input("Foot?"))
inch = int(input("Inch?"))
def calculate ():
foot_to_meter = 0.3048 * foot
foot_to_centimeter = 100 * foot_to_meter
inch_to_meter = (1.0 / 12)*0.3048* inch
inch_to_centimeter = 100 * inch_to_meter
def write():
print ("The ", foot, " foot is ", foot_to_meter, " meter" )
print("The ", foot, " foot is ", foot_to_centimeter, "
centiMeter")
print("The ", inch, ", inch is ", inch_to_meter , meter")
print ("The ", inch, ", inch is ",inch_to_centimeter, "
centiMeter")
def main():
read ()
calculate ()
write ()
main()

Tl 2
Foot?) + »
Inch?Y ..
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The Y.+ footis Y+,¢A meter

The Y. footis Y-:¢A,. centiMeter
The Y+« , inchis * meter

The Y-+, inchis ©+A,» centiMeter

def calc_f (m1, m2, d):
g = 6.673e-8;

San BN Ao

return (g * ml * m2 / pow (d)) Sler sl s, | 9 &yl o
def pow (d): i

return (d * d) Jsl g o2 | T main
def main(): PR

ml = float(input("Enter mi1:"))
m2 = float(input("Enter m2:"))
d = float(input("Enter d:"))
print("F is ", calc_f (m1, m2, d))
main()

r*“?}’;r::“'l'élé

Tl 29

Enter mY: )Y
Enter mY: Vv

Enter d:1
Eis ¥, YA ¥ 111111111 Meg- 0 Y

Suan P o
NP \Y main
import math Les t

def calc_cold (v, t):
return (33 - ((10 * math.sgqrt (v) - v + 10.5) * (33 - t)) / 23.1)
def main():
v = float(input("Enter v:"))
t = float (input ("Enter v:"))
print("W is ", calc_cold (v, t))
main()
Tl 2
Enter v:) «
Enter v:Y+
Wis V&,3YTYET1arE1 Ve
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San gy Ao

def repeat(n, m): .
count = @ s g0 s n main
while n > 0: ~ N

if (n % 10) == m: 238 g sde 3 LS (W5, | M
nc‘;‘/‘:tlz count + 1 s 53 035 1 S5 sl count | repeat
return count

def main():

n = int(input("Enter n:"))

m = int (input ("Enter m:"))

print (m, " Repeat ", repeat (n, m),
main()

" times")
Tl 2 ss
Enter n:€) €YY
Enter m:¥
Y Repeat Y times

RV gy N0
$3508 X
$3509 n
¢ 3m sum main
def fact (n): -
if n == 1: oyl !
return 1.0; ] . i
else: (o pbon (shta 5 e Ol 53 () 2adle | SIGN
return n * fact
(n - 1)
def pow (x, n):
if n == 0:
return 1.0
else:
return x * pow (x, n - 1)
def main():
sign = 1
sum = @

x = float(input("Enter x:
n = int (input ("Enter n:
for i in range(1, n+l, 2):
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sum += sign * pow (x, i) / fact (i)
sign = -sign
print("Sin(", x, ") =", sum)
main()

Tl 2
Enter x:¥
Enter n:1
Sin( Y.+ )= +,0Y£44444949944444

def f1():
global x
y = 10
print("y = ", y)
X += 10
print("x = ", x )
X=X+ 1
def main():
global x, y
print ("x = ", x)
f1 ()
y =Yy + 1
print ("y =", y)
print ("x =", x )
X=X+ 1
X =y =0
main()
Tl 29
X=
y= \K)
X= ).
y:\

Xx= W
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odijles | main
Js! Vj-’ ny
g3 08, | DY
et [
S8 L | temp
def fact(n): - —
if n == 0: el o) 556 ¢ gaze | SUM
return 1 358 Ol 0T )y sS B ul« s3ae [ N fact
else:

return n * fact (n - 1)
def main():

print ("Result is:", end ='")

for i in range(100, 1000):
nl =1% 10
temp = 1 // 10
n2 = temp % 10
temp //= 10
n3 = temp % 10
sum = fact (nl) + fact (n2) + fact (n3)
if (sum == i):

print ("

, 1)

main()
!Ul_;)_g U‘>3P
Resultis: Y¢e
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def pow(x, n):
if n == 0:

return 1 odisles | 1 main
else:
return x * pow (x, n - 1) sty | M
def main(): -
print ("Result is:", end ='") ps2pd | Y

for i in range(1000, 10000):

5 ny
nl =119% 10 [Eakad]
temp = i// 10 C)ng (,5) ne
n2 = temp % 10
temp //= 10 S sla e | temp
n3 = temp % 10

ol s X ow

temp //= 10 LN ol 4wl oS al p
n4 = temp % 10 AL

if (n1 + pow (n4, 4)) ==
(n2 * n2 + pow (n3, 3)):
print ("

, 1, end ='")
main()

tdolo g 29
Resultis: Y+ Ye Yo YY YA YYee ANYY 0 Y E NIFE YLy YA

Yol  Ye0q  ¥YYEY O YYYY  YYEA Y4 YIAY O YYAA YioA  £7vA

de-F. lem(x, y): o e
if x > y: :
z =X Jsl e 30e X Main
else: y
z=Yy £3° goe e
while(True): s el X Lem
if((z % x == 0) and (z %y == 0)): : y
Iem = z £33 bl
break
z +=1
return lcm
def main():

x = int(input("Enter x:"))
y = int(input("Enter y:"))
print("lcm is ", lcm(x, y))
main()
el 2esS

Enter x:Y ¢
Enter y:YA
Icmis 1A
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from array import *

o ; -
def prim(a, tedad, num): = > =
for i in range(®, tedad): oddokil g sae | N
i n::tﬁr:[;] o Jslslasl 5 elal,T | P
a.append(num) o Lot i main
return 1
def main(): Jslslael slaws | tedad
tedad = 0

olyled i prim

p = array('i', [1)
n = int(input("Enter n:"))
for i in range(2, n+l):
if prim (p, tedad, i) == 1:
tedad = tedad + 1
print("Primary is ", end ='")
for i in range(0, tedad):
print(" ", p[i], end ="")

main()
Tl 2

Enter n:Y4
Primaryis Y ¥ o ¥V Y)Y Y Y'Y O Yq YY Y4

San By Ao
Ob il ol (6,106 sl sl T id main
Ob soeiils slday n
oy led i
skl i readarray
Lo yled i,j | select_sort
SeS s temp
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sae o 555 max

okiled i writearray

from array import *
def readArray (id, n):
for i in range(@, n):
id.append(int(input("Enter id["+str( i + 1)+ "]1")))
def select_sort (id, n):
for i in range(0, n):
max = i
for j in range(i+1, n):
if id[max] > id[j]:
max = j
temp = id[i]
id[i] = id[max]
id[max] = temp;
def writeArray (id, n):
print("Sorted output ", end ='")
for i in range(@, n):
print (" ", id[i], end ='")
def main():
id = array('i', [])
n = int(input("Enter n:"))
readArray (id, n)
select_sort (id, n)
writeArray (id, n)
main()
el 2P
Enter n:1
Enter id[']"
Enter id[Y]¥
Enter id[¥]Y
Enter id[£]1
Enter id[°]A
Enter id[1]°
Sortedoutput Y Y Y o 1 A

from array import * on e
n = int(input("Enter n:"))
a =array ('i', []) slael 31 glal,T a
j=o — :
for i in range(@, n): fol syt oyt | find
find =0 sldel sldas n
num = int(input("Enter a["+str(i+1)+ "]:")) —
for j in range(@, i): ok sled I
if a[j] > num: auuw.-\ﬂ}ﬁ- Sde num
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find = 1
break
if find == 1:
a.insert(j, num)
else:
a.append(num)
print("Result is : ", end="")
for i in range(@, n):
print(" ", a[i], end ="")
Tl 2
Enter n:v
Enter a[\]:)
Enter a[Y]:-)
Enter a[¥]:¥
Enter a[£]:-Y
Enter a[°]:Y
Enter a[1]:¢
Enter a[V]:A
Resultis: -Y -Y Y ¥ ¢ v A

RV BT EWY
a7 ol sl n Main
e Ve Ll a
Ly ae mid
o yleds i

I pate o 6l cade | SIQN

from array import * Goe S 4 dn s
def action (a, loc, n): ol i Action
for i in range(0, n):
print(a[i], " / ", a[loc], " =", a[i] / a[loc])
def main():
sign = 1

a = array ('i', [1)
n = int(input("Enter n:"))
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mid = n // 2
for i in range(@, n):
a.append(int(input("Enter a["+str( i + 1) + "]1:")))
j=o
for i in range(@, mid + 1):

if a[mid + (sign * j)] != o:
action(a, mid + (sign * j), n)

return

if sign ==
j=3+1

sign = -sign;

print("All element are zero")
main()
Tl 2
Enter n:V

Entera[']:"
Enter a[Y]:*
Enter a[¥]:*
Enter a[¢]:+
Enter a[°]:¢
Enter a[1]:Y
Enter a[V]:?
Y [ ¢ = ., Yo

.

.

= e,

A« .
~ O~~~ ~
L N LN YN YN

Saa gy &b
a7 Gl low slis n

ol gloswsls | m main
X al,T a

Dbl bogd YU e Solaislusl Ll S slubT | arr
oo sl createrandom
L

BB g sldas m

NV G o 5l o okiyled |

printarray()




(o7 o — bz 00 o )Oghlh Plwo o o

M-V G io 5 Ogm ol | j

import numpy as np
import random
import numpy.matlib
def createRandom(arr, n, m):
for i in range(@, n):
for j in range(@, m):
arr[i, j] = random.randint(e, 20)
return arr
def printArray(arr, n, m):
for i in range(@, n):
for j in range(@, m):
print(arr[i, j], end = "\t")
print()
def main():
n=m=3
a = np.matlib.empty((n, m), dtype = 'i')
a = createRandom(a, n, m)
printArray(a, n, m)
print("==================== ")
print("Sum is ", np.sum(a))
print("Average is ", np.average(a))
print("Max rows are ", np.amax(a, axis = 1))
print("Min cloums are ", np.amin(a, axis = @))

main()
Tl 29
'Y o V¢
Y ! Y
¢ 3 Vo
Sumis Af

Average is LYFYrYrryryy
Max rows are [["{]

0]

Dell

Min cloums are [[£ ¥ Y]]
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WKV il o

slaslslus | N main

slaet 31 sl 1,7 | UM

odiyles | input)
LS e temp convert
from array import * ol |
def inputl( a, n): oyl | print)

for i in range(0, n):
a.append (int (input ("Enter a[" + str (i + 1) + "]1:")))
def convert(a, n):
for i in range(@, n // 2):
temp = a[i]
a[i] = a[n - 1 - 1]
a[n - i - 1] = temp
def printl (a, n):
for i in range(0, n):
print(" ", a[i], end ='")

def main():
n = int(input("Enter n:"))
num = array ('i', [])
inputl (num, n)
print("Input is
printl (num, n)
convert (num, n)
print("\nConvert is ", end ='")
print1l(num, n);

main()

, end ="");

Tl 29
Enter n:A
Enter a[\]:)
Enter a[Y]:¥
Enter a[¥]:¥
Enter a[£]:Y
Enter a[°]:A
Enter a[1]:)
Enter a[V]:°
Enter a[A]:¥
Input is Y Y Y Y A Y o ¥
Convertis Y o Y A v ¥ Y
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San Jues

e 8‘"‘ Joul table

Oeble o jled number

Calse 45 | code

W:JLA » Olalss C‘,w sum

odiples |
from array import *
def main(): Cpile a s sl | N

table = array ('i', [1000, 2000,
3000, 4000, 5000,8000,\ 10000, 20000, 30000, 50000 ])

sum = ©
while True:
number = int(input("Enter number:"))
if number == -999:
break
n = int(input("Enter n:"))
sum = 0.0
i=1

while i <= n:
code =int(input("Enter code "+ str(i)+":"))
if code >= @ and code < 10:
sum += table[code]

else:
print("Enter code between © to 9")
continue

i=1i+1

print("*** Number is ",number, Sum is ", sum)
main()
Tl 2
Enter number:)
Enter n:®
Enter code Y:)
Enter code Y:Y
Enter code ¥:))
Enter code between -« to ¢
Enter code Y:A
Enter code £:1
Enter code ©:v
*** Numberis ' Sumis 1Teve,
Enter number:Y
Enter n:¥
Enter code Y:)

Enter code Y:©
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Enter code Y:V
*** Numberis ¥ Sumis Yreee,e
Enter number:-444

Soa Py Ko
import numpy.matlib Oswbd s buflLlal,T| @ main
import numpy as np —

o Lo 1, I I’
def readArray (a): Laedijlo J eadarray
for i in range(0, 4): botiyles | 1, findmax
print("Enter row(", i — .
+1, "):", end ='") bodislez | 0, j | writearray

s = input().split ('
")
for j in range(0, 4):
ali, 31 = int(s[3])
def findmaxrow (a):
for i in range(0, 4):
a[i.v 4] = a[i: 9]
for j in range(1, 4):
if a[i, 4] < a[i, jI:
ali, 4] = a[i, jI;
def writearray(a):
for i in range(0, 4):

print ()
for j in range(90,4):
print (" ", a[i, j], end ="")
print(" ", a[i, 41)
def main():

a = np.matlib.zeros ((4, 5))
readArray (a)

findmaxrow (a)
5 1 3 3k sk 3k ok 3k ok ok 3k ok 3k ok 3k 3k ok ok sk ok sk ok k Seskok sk ok kok sk ok sk kk kkkok k"
print( result )

writearray (a)
main()
Tl e
Enter row( ) ):) Y ¥ ¢
Enter row( Y ):1 VA4
Enter row( ¥ )Y £ 1V

Enter row( £ ):Y 1A
FERAARAAAAKRAAAAAAAhAAhkxK resu It*****************

Y, Y, A 0 S,
T, Y, Ao ,¢ 9,
Y, 0 T, YV, Y,
Y, T, A,y e Yoo Ay
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RV 0 —
R O IR T I o [T i
S matrix
v [ |1 e Main
O 9 o sluss n
Y Al 11 vl r fill i
s ol i ill_matrix
Ay v | Ww]n e T
G Al O g g o 0yl JANA
%mport numpy .matlib ok ylad ) n
import numpy as np
def rangeXy(il, ji, n): el Sl gl ) ol Jii disp_matrix
if i1 > n:
i1 =90
if i1 < o:
il =n
if j1 > n:
j1=e
if j1 < o:
j1 =n

return [i1, j1]
def fill_matrix(matrix, n):

i=290
n=n-1
j=n//2

matrix[i, j] =1
for m in range(1, (n + 1) * (n + 1)):
i1=1 -1
ji=3 -1
[i1, j1] = rangeXY (i1, ji1, n)
if matrix[i1l, j1] != @:
il=1i+1
j1 =173
[i1, j1] = rangeXy (i1, ji, n)
matrix[il, j1] = m + 1
i=1i1; j =3J1
def disp_matrix (matrix, n):
for i in range(0, n):
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for j in range(@, n):
if matrix[i, j] < 1eO:

print(" ", matrix[i, j], end ="")
elif matrix[i, j] < 100:
print(" ", matrix[i, j], end ="")
else:
print(" ", matrix[i, j], end ='")
print()
def main():

n = int(input("Enter n:"))
matrix = np.matlib.zeros ((n, n))
fill matrix (matrix, n)
disp_matrix (matrix, n)
main()
Tl 2P

Enter n:vY
YA, V4,0 Ny Yoo €A, YA,0 Y,

Ya,«  YV,e YA, q,. Yoo EY,0 YA,
YV,o  Yo,¢ Y1,¢ VY, Agv e £
€0, Y1,¢ Yé¢,¢ Yo,. V1, Yé, o,
E,0 £8,0 £V, VY, Yo Yo,0 VY
VY, Yoo £V, 0 £),0 YY,e  YY,e Y,
Yo,o VY, Y, £9,. e, Y, VY,




A=
B=
A+

(o™ @ o — ol 10+ S JOgily fluwo J>

|t 4

import numpy as np 35 slael al,T b

a = np.arange(0, 10, 2)

. o 5 al,T c
print("A = ", a) bloes a0

b = np.arange(1, 10, 2)
print("B = ", b)
print("A + B= ", a
print("A - B =", a - b)
print("A*B = ", a * b)
print("A / B =", a / b)
a= np.append(a, b)
print("A =", a)

b = np.insert(b, 9, a)

print("B = ", b)

b = np.unique(a)

print("B = ", b)

b = np.delete(b, 2)

print("B = ", b)

print("Min(B) = ", np.amin(a), "\tMin(b) = ", np.amin(b) )
print("Max (A) =", np.amax(a), "\tMax (b) =", np.amax(b))
print("Average(A) = ", np.average(a), "\tAverage(B) = ",
np.average(b))

+ b)

V- .

print("Median(A) = ", np.median(a), "\tMedian(B) = ", np.median(b))

print("var (A) = ", np.var(a), "\t var(B) = ", np.var(b))
a = np.sort(a)

print("A =", a)

c = np.copy(a)
print("C = ", )
print("C is A =
c=b

print("C = , C)

print("C is B = ", ¢ is b)
print("A > 5 =", a > 5)
print("sqrt(B) = ", np.sqrt(b))

, € is a)

Tl 2

[+ Y ¢7A]
[ ¥ova]
B=[) © 917 V]

A-B=[-)-) ) -]
A*B= [+ 1Y £Y VY]

A/B= [+ o3TTTTTIY G A GASYYEYAT  AAAAAAG]
A= [+ YE1AYY o V4]

B= [+Y&1AYYovaITovq]
B=[+)YYéotvAid]

B=[-)Yio1VvAd]

Min(B) = - Min(b) = »

Max (A) =14 Max (b) = 4

Average(A) = ¢,° Average(B) = £,YYVYYYYYYYYA
Median(A) = ¢,° Median(B) = °,+

Var (A) = A,Ye  Var(B) = A,Y30.T11VYAL
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A=[VYYeotvAg]
C=[VYYéoivad]

Cis A= False

C= [+)YYeonvaAq]

CisB = True

A > o =[False False False False False False True True True True]
Sqrt(B)= [ +. ), VLVFY o A Y, YLYTT VAN Y, E696AVE

Y,1€0Vo Y)Y Y,AYALYVIY Y, ]

San gre-N) Ao
Al e 8 53 ool 5 sde n main
AL s el LT o ey o )8 done
Jsl sde al)T p
Ul 3de s i) 5n 93 5 sl o ples 0]
Jgl sde slass tedad
ok jlads i prim
Ul 3de 33 03,8 1y 5 gl ylak ij find_two_numbers

from array import *
def prim (a, tedad, num):
for i in range(9, tedad):
if num % a[i] ==
return 0
a.append(9)
a[tedad] = num
return 1
def find_two_numbers (p, nl, n2, tedad, n):
for i in range(9, tedad - 1):
for j in range(i + 1, tedad):

if (p[i] + p[3]) == n:
nl = p[i]
n2 = p[j]
return [nl, n2]
return nl
def main():
p =array ('i', [])
i=20

j=o
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done = 'Y’
while True:
tedad =
n = int(input("Enter n:"))
ifn % 2 == 1:
print("Enter a even number\n")
continue
for i in range(2, n+1):
if prim(p, tedad, i) == 1
tedad= tedad + 1
[i, j] = find_two_numbers(p, i, j, tedad - 1, n)

pr\int(n 3 " = ") i) " + ") j)

done = input("You want to continue(y/n):")

if done[@] == 'n' or done == 'N':

return
main()
Tl 2P

Enter n:A
A=Y 4+ 0
You want to continue(y/n):y
Enter n:Y -
Yo =¥ 4+ VYV
You want to continue(y/n):y
Enter n: «+

Yoo = )Y +/\ﬁ

You want to continueii/ni:n

def odd_values_string(str):
result = ""
for i in range(len(str)):
ifi%2==0:
result = result + str[i]
return result
str = input("Enter a string:")

print(odd_values_string(str))

Tl 2 F
Enter a string:Python is a very good language.
Pto savr odlnug

def word count(str)
counts = dict()
words = str.split()
for word in words:
if word in counts:
counts[word] += 1

else:
counts[word] =
return counts
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I print( word_count(input("Enter several words:")))
Tl 28
Enter several words:Dog Book Teacher Student Language Book Student
{'Teacher" Y, 'Dog": Y, 'Language”: }, 'Book'": Y, 'Student"; Y}

def caesar_encrypt(realText, step):
outText = []
cryptText = []
uppercase
['A*,'B","'C','D","E","F',"G","H",'T", "3, 'K*,"'L",'M",'N", 'O", 'P",
'Q', 'RY, 'sSt, T, U, VY,OW', X', YU, 'ZY]
lowercase [*a','b",'c",'d", e","f','g",'h","1",'j", 'k', '1',
m', 'n', ‘o', 'p', 'q', 'r', 's', "t', 'u', 'v', 'w', 'x', 'y', 'z']
for eachLetter in realText:
if eachLetter in uppercase:
index = uppercase.index(eachLetter)
crypting = (index + step) % 26
cryptText.append(crypting)
newlLetter = uppercase[crypting]
outText.append(newLetter)
elif eachLetter in lowercase:
index = lowercase.index(eachLetter)
crypting = (index + step) % 26
cryptText.append(crypting)
newLetter = lowercase[crypting]
outText.append(newLetter)
return outText
code=caesar_encrypt(input("Enter a string:"),int(input("Enter
key:")))
code = ''.join(code)
print("Encryped text is

, code)
R e S R
Enter a string:Python is a very good language.
Enter key: ¢
Encryped text is Tcxlsrmweziveksshperkyeki

def reverse_string(stril):
return ''.join(reversed(stril))
print(reverse_string(input("Enter a string:")))

Tl 2 F
Enter a string:Python Exercises.
.sesicrexE nohtyP

def strip_chars(str, chars):

return "".join(c for c¢ in str if c not in chars)
s = input("Original String:")
stripl =input(" stripping chars:")
print(strip_chars(s, stripl))

Tl 2 F
Original String: Type "copyright", "credits" or "license()" for more information
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stripping chars:oicet

Tyi "iyrgh", "rds" r "Ins()" fr mr nfrman

def string_reverse(stril):
rstrl = "'
index = len(strl)
while index > @:
rstrl += strl[ index - 1 ]
index = index - 1
return rstril
print("Reverse is

, string_reverse(input("Enter a string:")))
Tl 2 sF

Enter a string:Python language

Reverse is egaugnal nohtyP

import random
s = input("Enter a string:")
print("Random char is ", random.choice(s))

T
Enter a string:VerygoodLanguage
R T B
Random charis n

6JJJ‘94:J':J Str ‘;-é‘d"jlﬁ

JS@QE)}‘)G})J}M)SOLG}?}T Str

abl a5 ady | S charChange

def charChange(str):
s = mm
for i in range(@, len(str)):
if str[i].islower() == True:
s += str[i].upper()
else:
s += str[i].lower()
return s
str = input("Enter a string:")
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str = charChange(str)
print("Result is ", str)

Tl 2
Enter a string:Python Is A gooD lanGuage.
Resultis pYTHON iS a GOOd LANgUAGE.

def histogram( items ):
for n in items:
output = "'
times = n
while( times > 0 ):
output += '*'
times = times - 1
print(output)
histogram([3, 6, 4, 3, 6, 5])

el 2esS
* %%

*hkkkkk
*kkKk
* Kk
*hkkkkk
*kkkk

s = sum([10,20,30, 56, -9, 87, -8])
print("Sum of the container: ", s)

Sum of the container: YAt

Tl 29

num_list = [45, 55, 60, 37, 100, 105, 220, 660, 876]

# use anonymous function to filter

result = list(filter(lambda x: (x % 15 == @), num_list))
print("Numbers divisible by 15 are",result)

Tl 2
Numbers divisible by Ye are [te, 7+, V.o, 71.]

nums = [34, 1, @, -23, 7, -99, 90, -88]
print("Original numbers in the list: ",nums)
new_nums = list(filter(lambda x: x >0, nums))
print("Positive numbers in the list: ",new_nums)

Tl 2
Original numbers in the list; [r¢, Y, +, -7, v, -39, 4. -AA]
Positive numbers in the list: [r¢, Y, v, 4+]



(o7 g po— b0+ S JOghl flwo J>  FP

from functools import reduce
s = input("Enter several numbers:")
numbers = s.split()

nums = []
for i in numbers:
nums.append(int(i))
nums_product = reduce( (lambda x, y: x * y), nums)
print("Product of the numbers : ",nums_product)

Enter several numbers: Y -A 4 -3y v a. A
Product of the numbers ; -yyia.¢vy..

s = input("Enter several numbers:")
numbers = s.split()
nums = []
for i in numbers:
nums.append(int(i))
values = bytearray(nums)
print("Result is ", end = '")
for x in values: print(x, end = "\t')

Enter several numbers:¢¢ Y+ av vy
Resultis ¢¢ i qv VY VY

def find_longest_word(words_list):
word_len = []
for n in words_list:
word_len.append((len(n), n))
word_len.sort()

return word_len[-1][1]
words = input("Enter several words:").split()
print(find_longest_word(words))
el 2esS

Enter several words:Php Python C++ C# Cobol
Python

def multiply(numbers):
total =1
for x in numbers:
total *= x
return total
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s = input("Enter several numbers:")
numbers = s.split()

nums = []

for i in numbers: nums.append(int(i))
print("Multiply is ", multiply(nums))

HEW IR U e
Enter several numbers:y« Y« Y. g2 00 TV AL
Multiply is -7y voevnn,

d={"UPPER_CASE":0, "LOWER_CASE":0}
s = input("Enter a string:")
for c in s:
if c.isupper():
d["UPPER_CASE"J+=1
elif c.islower():
d["LOWER_CASE"]+=1
else:
pass
print ("No. of Upper case characters : ", d["UPPER_CASE"])
print ("No. of Lower case Characters : ", d["LOWER_CASE"])
Tl s

Enter a string:In the name of GOD
No. of Upper case characters : ¢
No. of Lower case Characters : -

import math
class Circle:

PI = math.pi

r =e

def __init_ (self):
self.r = 0

def __init_ (self, r):
self.r = r
def _ del_ (self):
print("object is deleted")
def Area(self):
return self.PI* (self.r * self.r)
def Perime(self):
return 2 * self.PI * self.r
def __ str__ (self):
s = "R : "+ str(self.r)
s += "\t\tArea : " + str(self.Area())
s += "\t\tPerime : "+str(self.Perime())
return s
r = int(input("Enter r:"))
¢ = Circle(9)
print(str(c))
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¢ = Circle(r)
print(str(c))

del c
Tl 2

Enter r:\ -
R:- Area: Perime: +,-

object is deleted
R: V. Area: YY¢,YedYloYoAdvay Perime : 1Y, AYYAoY. . VIVaoAT

object is deleted

Password 4 userName Slapl 4 dld 55 &5 US o oolinal USET o 4y (DS Sl sl o) :gentr g
S’,:s-lic,..ﬂla.u;,l,@w”,sufjﬂ,lftm.xfﬁgu:,l;isCorrect() el & sze 5 3,0

class User:
UserName = "fanavarienovin"
Password "123456"
def isCorrect(self, userName, password):
return self.UserName == userName and self.Password ==
password
userName = input ("Enter user name:")
password = input ("Enter password:")
userl = User ()
if userl.isCorrect (userName, password) == True:
print ("Correct")
else:
print("Not Correct")

R L S R B
Enter user name:fanavarienovin
Enter password:)YY¢e1
Correct

AL e 5 slasl shyls WIS ol
S o 651385 1 ¥ Hldie Pl oot e
S n 58S 1y 0 S pladr ald -
eL L ite ol 0m) s o 13 (1) plad Ald 53 03,8 S8l y5 bl Olsieas 5T e cowile e
(Sl odioslimal self Soylal 5l dsl oSS ald
13 8 ap 03,8 Slan 165wz VolUME() ie -
13,5 oy 03,8 drlna Iy 0 S Cmlne Ared() e e

class Sphere:

PI = 3.1415
r=290
def __init_ (self, r):
if r > 0:
self.r = r
else:

self.r (%]
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def Volume (self):
return (4.0 / 3) * self.r ** 3 * self.PI
def Area (self):
return 4.0 * self.r ** 2 * self.PI
r = int(input("Enter r:"))
s = Sphere (r)
print("Volume is

, s.Volume (), " Area is ", s.Area ())
B L B P T B
Enter r:)

Volume is EYAATTTTTTTTTTIY  Areais YYoTl,Teevvven i)

class Time:

hour = @
minute = @
second = @

def _init_ (self, hour=e, minute=0, second=0):
self.hour = hour
self.minute = minute
self.second = second

def isEqual (self, t):

return self.hour == t.hour and self.minute == t.minute and
self.second == t.second
tl = Time ()

t2 = Time (10, 55, 40)
if tl.isEqual (t2) == True:
print ("tl1 Equals t2")
else:
print ("tl1 Not Equals t2")
if t2.isEqual (t2)== True:
print("t2 Equals t2")
else:
print("t2 Not Equals t2")

EL e 5 slasl Glyls ST ol
S s asb  aids (el yslie 615455 6l m 5 7 4 45 secONd 5 minute hour slaals =
Ly s
self.hour glaals ;s s 5" sl 5 1, second s minute dhour glaasl el L 4w i3l -
o self auls” 51y S baalks UL s sla eyl pU O s s o ) 3 self.second , self.minute
el oddoslazul WIS (Gladld 4 o 2ws
- Il e s ) oty gl 5 o5 S n gl 5 TIME 65 51+ o5 55 dSEQUAN() e e

35k

Tl 2
t) Not Equals tY
tY Equals tY
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class Teacher:

id = mwm
firstName =
lastName =
hour = @
payPerOneHour = ©
def getID(self):
return self.id
def setID(self, value):
self.id = value
def getFirstName(self):
return self.firstName
def setFirstName(self,value ):
self.firstName = value
def getLastName(self):
return self.lastName
def setLastName(self, value):
self.lastName = value
def getHour(self):
return self.hour
def setHour(self, value):
if (value > 9):
self.hour = value
else:
self.hour = @
def getPayPerOneHour(self):
return self.payPerOneHour
def setPayPerOneHour(self, value):
if value > 0:
payPerOneHour = value
else:
payPerOneHour = 0
def __init_ (self, i="", f="", 1="", h=0, p=0):
self.setID(i)
self.setFirstName(f)
self.setLastName(1l)
self.setHour( h)
self.setPayPerOneHour(p)
def Payment(self):
return self.hour * self.payPerOneHour
def _ str__ (self):

wn,
)

return self.id + " " + self.firstName + " "\
self.lastName + " " + str(self.hour)+ " " + \
str(self.payPerOneHour)+ " "+ str(self.Payment ())
def main():
tl = Teacher()
print(str(tl))
t2= Teacher("12", "Ali", "Ahmadi", 140, 70000)
print(str(t2))
main()

S a6 1385 1y (ol Lot dd Al
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LS e 15855 1 sk ¢ dirstName ubs +

firstName 4ls 4 s ,l4as sl , setFirstName . 5 firstName b 5L sl » getFirstName we
2950 05 &

Al (5135 1 skl Sl gl o dastName ks &

s lastName uls 4 5,142 (ol ; setLastName 4. 5 lastName U 5L sl » getLastName wio 4
ETPE1

By )8 4 skl e Slele 6158 (1, hour ks

S35 LS ashour s 4 a5 ldie Cga- SetHOUr die 5 hour Hluie ol 5L Cg getHour v
S e (6,8 sl hOUr Al (gl 5 ite slaesls 55,5 I setHour ze

S om0 5 1y sl sy Csle a (gl e s e (payPerOneHour uié +

!~ setPerOneHour 4 5 payPerOneHour .Ls L L g getpayPerOneHour w4
Als ys de CLA 35,9 5 setPerOneHour 4w 5 55, s 55" 4 payPerOneHour uls « s )ld
5,5 sl 6,8 Jo payPerOneHour
.M;dﬁ@wﬂ)uuw‘_;La.u:é«u;ﬂf@b&u,ubg‘m;u=L

L1303 S aslous | sliwl 4 sy e sl G e Payment() i 4
R L S R B

. . .

‘Y Al Ahmadi Y&+ o -

D o035 50 YXT Joblbd 5o cod3S adluyd 1) o> sz 45 sldnliyy )
C o g e Data 4 gy

import io
myFile = open('D:\\data\\1l.txt', 'wt')
while True:
sentence = input("Enter a sentence: ")
if len(sentence) != 0:

sentence +='\n'
myFile.write(sentence)
else:
break
myFile.close ()

Shixt > b e (S myfile s e (L Lol 4ol p |10 ats Il asb 5 -
VX me BB s cpig ol 1y mYfile ae jaew (dS e wlSl asl a0 N P
e 53 bl |y laker s pliy b 4l ¢S5 byl s a8 e sbwl D sy Data ady
Iy gy ol 5 dew 55 oo MYFile 531, 0T clils i Sentence awi, Jsb axsli= 5 das s 5l 3 seNtence

sy e lymyFile J6OLL 55 a8 5505 Jae Jsb b glatdy 5,8 6 das o aals!
Tl 2
Enter a sentence: Python is a high level language.
Enter a sentence: C# is a good language.
Enter a sentence: C++ is a very good language.
Enter a sentence:
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import io
myFile = open('D:\\data\\1l.txt', 'at')
while True:
line = input("Enter a sentence: ")
if line != "":

line +="'\n"'
myFile.write(line)
else:
break
myFile.close ()

)}}5-&5‘}5- b 6‘41&?wur\ag_bj‘ﬁ4.u>)é)ﬂéu‘bT&uﬁ‘bbgLﬁwlo“}bu-\S‘_sﬁjb
sl Ji=line 315 uS . wlsimyFile |6 clesl « 1, 0T wals Jis line ST 5 das o 5l 3 line

) ) Tl 2
Enter a sentence: Java is a good high level language.

Enter a sentence: Pascal is a language.
Enter a sentence:

import io
import os
fileName=input("Enter name of file: ")
if os.path.exists(fileName):
myFile = open (fileName, 'rt')
while True:
line = myFile.readline()

if line != "":
print(line, end ="'")
else:
myFile.close ()
break

52 kil 1) BB bl pliy &K L 5 uS 0 LS sl 40 1508 5 10 (slaaty ol 4l )

055 55230 Sygo 33 9303355 BB LT & U8 0 &S s s ol 5 fileName (glazsy e
myFile 5 s o st 1S ail> S5 ) aalsl 5o Ll 1y b6 0T Sledbl 0l b S 561, 0T b
s 55 MU Ll 1ine 487 das o aslsl SLaj B 1y 5187 ol idas oo 0L Jasladamis (S5 » 9 Ll o0

MLJ S 90 Jﬂb BE LSE’
R I B
Enter name of file: D:\Data\).txt
Python is a high level language.
C# is a good language.
C++ is a very good language.
Java is a good high level language.

Pascal is a Ianiuaie.

- from stat import S_ISREG, ST_CTIME, ST_MODE



FQ  oP1=$§KeolFIE—§F7E0oPPo ity jSyo o | I=IPFPAFFAY (1295 5 9k8 Ol jLiisl

import os, sys, time
dir_path = sys.argv[1] if len (sys.argv) == 2 else r'.'

data = (os.path.join (dir_path, fn) for fn in os.listdir (dir_path))
data = ((os.stat (path), path) for path in data)
data = ((stat[ST_CTIME], path)

for stat, path in data if S_ISREG (stat[ST_MODE]))
for cdate, path in sorted (data):
print (time.ctime (cdate), os.path.basename (path))
Tl 28
FriFeb Y VYV YO\A ) py
FriFeb Y)V:FA:£) Y.)VA Y py
FriFeb Y )V:0u:¥+ YOVA Y py

Fri Feb Y YA:Y¥:Y1 Y.)A siii

l import os.path
for path in [ 'test.txt', 'filename’, ‘/user/system/test.txt', '/', " ]:
print("'%s" :' % path, os.path.splitext(path))
Tl 2

"test.txt" : (‘test’, ".txt')

"filename" : (‘filename’, ")

"fuser/system/test.txt" : (‘fuser/system/test’, ".txt")

)

")

import os.path

import time
print('File
print('Access time
print('Modified time:
print('Change time
print('Size

, _ file )

, time.ctime(os.path.getatime(__file_ )))
, time.ctime(os.path.getmtime(__file_ )))
, time.ctime(os.path.getctime(__file_ )))
, os.path.getsize(__file_))

£

Tl 2e
File : D:/BookCSharp/pythonPractice/A/1.py

Access time : FriFeb Y YA:YY:o¥ YA A

Modified time: Fri Feb Y YA:¥Y:o¥ Y. 1A

Change time : Fri Feb Y YA:YY:€Y YV A

Size SRR

import io
def ShowData(urlFile):
myFile = open (urlFile, "rt")

count = @
while True:
line = myFile.readline ()
if line != "":
if count != @ and count % 22 ==
print("Perss any key to continue ... ")
input()
else:
break
print(line, end ="")

count = count+ 1
myFile.close ()
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def main():
fileName = input("Enter name of file: ")
ShowData (fileName)

main()

SeMbl 5 S o Sl s urlFile syl Uy das ol dal g 0 657 LG el showData() o
1y 5,3 53 urIFile 55 o7 b a8z ol sl o glate onl (sl as gn iles L YY Lot YY1, LG 0T
ioles b skt 3luas) COUNE e 5 das o Ll 3 MYFile jaze 53 0T Foylal 503 S3L Sblss &) pons
4 L while ail> ¢SS 5l eslizal b aslsl s Aas a5l 30T 5315 o ldds 5 LS o o, 1) (eddiasls
558 YY oddiosls Jioles bshst sl S das o Ol isledamin G55 2 5 ol = MYFile L6 51 Ls
ol 5 43 e Asle | Press any key to continue.... pliy &G 3 8 Lao plpcount % YY ia)
sy 1, myFile Jil;‘;;L_l“;.;,‘:axl?&uL,hs¢us4§.\n@m>\@u;ubx”

Slslp Loy das . )8 fileName i s ol 1) L6 el ol play L main() e
a3 r holaidomis 4 doio O ) o |y Sl fileName s o7 ¢l 5 b6 o3l ShowData()

Tl 2
Enter name of file: D:\\BookCSharp\\pythonPractice\Y\\p.py
day= int(input("Enter number of a day: "))
if (day < or day > ¥19):
print ("Day should be between Y and ¥12)™)

else:

month = day // T

if month > 1:
month =1

day -= month * Y

if day 1= +:
count=day// Y+
month += count + )
day -=count * Y+

else:
day =Y

if day == +:
day =Y~

month = month - )
print("day ", day, " of ", month, " month **, end =")
if month ==:
print ("(Farvardin) ", end =")
elif month == Y:
print (*(Ordibehesht) ", end ="
Perss any key to continue ...
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